# The orders of the canonical elements in $\widetilde{\boldsymbol{K}}\left(\boldsymbol{L}^{n} \mathbf{2}^{\prime}\right)$ ) and an application 

Dedicated to Professor Masahiro Sugawara on his 60th birthday

Teiichi Kobayashi

(Received July 1, 1988)

## §1. Introduction

Let $k$ be a positive integer. For the standard sphere $S^{2 n+1}$ in complex $(n+1)$-space $C^{n+1}$, let $T_{k}: S^{2 n+1} \rightarrow S^{2 n+1}$ be the fixed point free transformation of period $k$ defined by

$$
T_{k}\left(z_{0}, z_{1}, \cdots, z_{n}\right)=\left(\lambda(k) z_{0}, \lambda(k) z_{1}, \cdots, \lambda(k) z_{n}\right),
$$

where $\lambda(k)=e^{2 \pi i / k}, \quad \sum_{j=0}^{n}\left|z_{j}\right|^{2}=1, z_{j} \in C \quad(0 \leq j \leq n)$. Then $T_{k}$ generates the cyclic group $Z_{k}$ of order $k$. The orbit space $S^{2 n+1} / Z_{k}$ is the standard lens space $\bmod k$, and is denoted by $L^{n}(k)$.

Let $\eta$ be the canonical complex line bundle over $L^{n}\left(2^{r}\right)$, and define the canonical elements in the reduced $K$-ring $\widetilde{K}\left(L^{n}\left(2^{r}\right)\right)$ of $L^{n}\left(2^{r}\right)$ by

$$
\sigma(s)=\eta^{2^{s}}-1(0 \leq s \leq r), \sigma=\sigma(0) .
$$

The purpose of this paper is to determine the order of $\sigma(s)^{i} \in \tilde{K}\left(L^{n}\left(2^{r}\right)\right)$.
Theorem 1.1. Let $s$ and $i$ be integers such that $0 \leq s \leq r$ and $1 \leq i \leq$ $\left[(n-1) / 2^{s}\right]+1$. Then the element $\sigma(s)^{i}$ in $\tilde{K}\left(L^{n}\left(2^{r}\right)\right)$ is of order $2^{r-s+1+\left[(n-1) / 2^{s}\right]-i}$. (Here $[x]$ is the integer part of a real number $x$.)

For $s=0$, the result is obtained by T. Kawaguchi and M. Sugawara [2, Theorem 1.1(i)].

Let $k$ be a positive integer. Then a fixed point free transformation $\bar{T}_{2}$ : $L^{n}(k) \rightarrow L^{n}(k)$ of period 2 is induced by $T_{2 k}: S^{2 n+1} \rightarrow S^{2 n+1}$, since $\left(T_{2 k}\right)^{2}=T_{k}$.

As an application of Theorem 1.1, we prove
Theorem 1.2. Let $q$ and $t$ be odd integers. If there is a $Z_{2}$-equivariant map from $\left(L^{n}\left(2^{r} q\right), \bar{T}_{2}\right)$ to $\left(L^{m}\left(2^{s} t\right), \bar{T}_{2}\right)$, then $\left[(n-1) / 2^{r}\right] \leq\left[(m-1) / 2^{s}\right]$.

In case $s=0$ and $t=1$, this result follows also from the mod 2 part of a theorem due to H. J. Munkholm and M. Nakaoka [9, Theorem 4] and K. Shibata [10, Theorem 7.4] (cf. J. W. Vick [11, Corollary (3.3)]), since $\left[(n-1) / 2^{r}\right] \leq m-1$ if and only if $n \leq m \cdot 2^{r}$.

## §2. Some relations between $\sigma^{i} \in \widetilde{K}\left(L^{n}\left(2^{r}\right)\right)$

First we recall the basic facts about the structure of the $K$-ring of the lens space according to [2].

Let $k$ be any integer with $k>1$. The canonical complex line bundle $\eta$ over $L^{n}(k)=S^{2 n+1} / Z_{k}$ is induced by the natural projection of $L^{n}(k)$ on the complex projective $n$-space $C P^{n}=S^{2 n+1} / S^{1}$ from the canonical complex line bundle $\mu$ over $C P^{n}$. Put $\sigma=\eta-1 \in \tilde{K}\left(L^{n}(k)\right)$. Since $(\mu-1)^{n+1}=0$, we have

$$
\begin{equation*}
\sigma^{n+1}=0 . \tag{2.1}
\end{equation*}
$$

Now, let $k=2^{r}$. The first Chern classes classify the complex line bundles, and so $\sigma(r)=\eta^{2^{r}}-1=(1+\sigma)^{2^{r}}-1=0([2,(2.7)])$. Hence we obtain that, in $\widetilde{K}\left(L^{n}\left(2^{r}\right)\right)$,

$$
\begin{equation*}
\sum_{j=1}^{2^{r}}\binom{2^{r}}{j} \sigma^{j}=0 . \tag{2.2}
\end{equation*}
$$

Combining (2.2) with (2.1) repeatedly, we obtain the following relations.
Lemma 2.3. For the element $\sigma=\eta-1 \in \tilde{K}\left(L^{n}\left(2^{r}\right)\right)$,
(i) $2^{r+i} \sigma^{n-i}=0 \quad(i \leq n-1)$,
(ii) $\quad 2^{r+i} \sigma^{n-1-i} \pm 2^{r-1+i} \sigma^{n-i}=0 \quad(0 \leq i \leq n-2)$,
$2^{r-1} \sigma^{n}=2^{r} \sigma^{n-1}=\cdots=2^{r-1+i} \sigma^{n-i}=\cdots=2^{r+n-2} \sigma \quad(0 \leq i \leq n-1)$,
(iii) $2^{r+i} \sigma^{n-2-i}+2^{r-1+i} \sigma^{n-1-i}=0 \quad(1 \leq i \leq n-3)$,

$$
\begin{aligned}
& 2^{r} \sigma^{n-2}=-2^{r+1} \sigma^{n-3}=\cdots=(-1)^{i} 2^{r+i} \sigma^{n-2-i}=\cdots \\
& =(-1)^{n+1} 2^{r+n-3} \sigma \quad(0 \leq i \leq n-3), \\
& 2^{r-1} \sigma^{n-1}=2^{r} \sigma^{n-2} \quad \text { if } r \geq 2, \\
& \sigma^{n-1}=-2 \sigma^{n-2} \quad \text { if } r=1,
\end{aligned}
$$

(iv) $2^{r+i} \sigma^{n-3-i}+2^{r-1+i} \sigma^{n-2-i}=0 \quad(2 \leq i \leq n-4)$,
$2^{r+1} \sigma^{n-4}=-2^{r+2} \sigma^{n-5}=\cdots=(-1)^{i-1} 2^{r+i} \sigma^{n-3-i}=\cdots$
$=(-1)^{n+1} 2^{r+n-4} \sigma \quad(1 \leq i \leq n-4)$,
$2^{r} \sigma^{n-3}= \pm 2^{r+n-2} \sigma+(-1)^{n} 2^{r+n-4} \sigma=(-1)^{n+1} 3 \cdot 2^{r+n-4} \sigma \quad$ if $r \geq 2$,
$2 \sigma^{n-3}=-2^{2} \sigma^{n-4}=(-1)^{n} 2^{n-3} \sigma \quad$ if $r=1$.
This lemma is a generalization of Lemmas 4.1 and 4.3 in [4] for $r=2$, Lemma (3.5) in [5] for $r=3$, and Lemma A1 in [3] for $r=4$.

Proof. Though (i) is proved in [2, (3.3)], we give a proof for completeness. The equality $2^{r+i} \sigma^{n-i}=0$ holds for any negative integer $i$ by
(2.1). Assume that $2^{r+j} \sigma^{n-j}=0$ holds for any integer $j$ with $j<i<n$ -1 . Multiply the equality (2.2) by $2^{i} \sigma^{n-1-i}$. Then we have

$$
\sum_{j=1}^{2^{r}}\binom{2^{r}}{j} 2^{i} \sigma^{n-1-i+j}=0 .
$$

Setting $j=q \cdot 2^{t}$, where $q$ is odd and $0 \leq t \leq r$, we obtain

$$
\binom{2^{r}}{j} 2^{i} \sigma^{n-1-i+j}=\frac{1}{q}\binom{2^{r}-1}{j-1} 2^{r-t+i} \sigma^{n-1-i+j}=0 \quad \text { for } j>1
$$

by the inductive assumption, and hence $2^{r+i} \sigma^{n-i}=0$ as desired.
To prove (ii), multiply (2.2) by $2^{i} \sigma^{n-2-i}$, where $0 \leq i \leq n-2$. Then we have

$$
\sum_{j=1}^{2 r}\binom{2^{r}}{j} 2^{i} \sigma^{n-2-i+j}=0
$$

Setting $j=q \cdot 2^{t}$, where $q$ is odd and $0 \leq t \leq r$, we obtain, by (i),

$$
\begin{aligned}
\binom{2^{r}}{j} 2^{i} \sigma^{n-2-i+j} & =\frac{1}{q}\binom{2^{r}-1}{j-1} 2^{r-t+i} \sigma^{n-2-i+j}=0 & & \text { for } j>2, \\
& = \pm 2^{r-1+i} \sigma^{n-i} & & \text { for } j=2
\end{aligned}
$$

Thus we obtain (ii).
To prove (iii), multiply (2.2) by $2^{i} \sigma^{n-3-i}$, where $0 \leq i \leq n-3$. Then we have, by (i), (ii) and (2.1),

$$
\begin{array}{rlr}
\binom{2^{r}}{2} 2^{i} \sigma^{n-1-i} & =-2^{r-1+i} \sigma^{n-1-i} & \text { for } r \geq 2, \\
=2^{i} \sigma^{n-1-i} & \text { for } r=1, \\
\binom{2^{r}}{4} 2^{i} \sigma^{n+1-i}= \pm 2^{r+i} \sigma^{n-1-i} & \text { for } r \geq 2,0<i \leq n-3, \\
\binom{2^{r}}{j} 2^{i} \sigma^{n-3-i+j}=0 & \text { for } j=4, i=0, \\
& \text { for } j \geq 3, j \neq 4,0 \leq i \leq n-3, \text { or for } j \geq 3, r=1 .
\end{array}
$$

Hence we obtain the desired equalities.
To prove (iv), multiply (2.2) by $2^{i} \sigma^{n-4-i}$, where $0 \leq i \leq n-4$. Then we have, by (i) ~ (iii),

$$
\begin{aligned}
\binom{2^{r}}{2} 2^{i} \sigma^{n-2-i} & =-2^{r-1+i} \sigma^{n-2-i} & & \text { for } r \geq 3 \\
& = \pm 2^{n} \sigma-2^{1+i} \sigma^{n-2-i} & & \text { for } r=2,
\end{aligned}
$$

$$
\begin{aligned}
& =2^{i} \sigma^{n-2-i} \quad \text { for } r=1, \\
& \binom{2^{r}}{3} 2^{i} \sigma^{n-1-i}= \pm 2^{r+1+i} \sigma^{n-2-i} \quad \text { for } r \geq 2 \text {, } \\
& \binom{2^{r}}{4} 2^{i} \sigma^{n-i}=-2^{r+i} \sigma^{n-2-i} \quad \text { for } r \geq 3,2 \leq i \leq n-4, \\
& =2^{r+1} \sigma^{n-3} \quad \text { for } r \geq 3, i=1 \text {, } \\
& =2^{i} \sigma^{n-i} \quad \text { for } r=2 \text {, } \\
& \binom{2^{r}}{j} 2^{i} \sigma^{n-4-i+j}=0 \quad \text { for } j \geq 3 \text { and } r=1, \text { or for } j \geq 5 .
\end{aligned}
$$

Hence we obtain the desired equalities.
q.e.d.

On the other hand, the following is known.
Lemma 2.4 ([2, (2.9)]). The element $\sigma^{n} \in \tilde{K}\left(L^{n}(k)\right)$ is of order $k$.
Combining Lemma 2.3 (i), (ii) with Lemma 2.4, one has
Theorem 2.5 (T. Kawaguchi and M. Sugawara [2, Theorem 1.1 (i)]). For $1 \leq i \leq n$, the element $\sigma^{i} \in \widetilde{K}\left(L^{n}\left(2^{r}\right)\right)$ is of order $2^{r+n-i}$.
§3. The order of $\sigma(s)^{i} \in \widetilde{K}\left(L^{n}\left(2^{r}\right)\right)$
In the previous papers ( $[7, \S 3],[6, \S 2],[1, \S 2 \sim \S 3]$ ) some relations in $\widetilde{K}\left(L^{n}\left(2^{r}\right)\right)$ have been studied. In this section we prove the relations in $\widetilde{K}\left(L^{n}\left(2^{r}\right)\right)$ which are necessary to determine the order of the canonical element $\sigma(s)^{i}=$ $\left(\eta^{2^{s}}-1\right)^{i} \in \tilde{K}\left(L^{n}\left(2^{r}\right)\right)$. Though some of the relations in the lemmas below may have been already given in the previous papers (loc. cit.), we prove them for completeness.

It follows from the definition that

$$
([6,(2.2)]) \quad \sigma(s)=\sigma(s-1)^{2}+2 \sigma(s-1) \quad(0<s \leq r) .
$$

Since $(1+\sigma(s))^{2 r-s}-1=\eta^{2 r}-1=0$, we have

$$
\begin{equation*}
\sum_{j=1}^{2 r-s}\binom{2^{r-s}}{j} \sigma(s)^{j}=0 \tag{3.2}
\end{equation*}
$$

Let $s$ be an integer with $0 \leq s \leq r$, and define integers $l_{s}$ and $k_{s}$ by the following:

$$
n-1=l_{s} \cdot 2^{s}+k_{s} \quad\left(0 \leq k_{s}<2^{s}\right) .
$$

Then, clearly, $l_{s}=\left[(n-1) / 2^{s}\right]$, and $l_{s-1}=2 l_{s}$ or $2 l_{s}+1$.

Lemma 3.3. For any positive integer $i, 2^{r-s+1+l-i} \sigma(s)^{i}=0$, where $l=$ $l_{s}=\left[(n-1) / 2^{s}\right]$.

Proof. If $s=0$, the result follows from Lemma 2.3 (i). Assume that the result holds for $s-1$, i.e., assume that

$$
2^{r-s+2+l^{\prime-i}} \sigma(s-1)^{i}=0 \quad(i>0,0<s \leq r),
$$

where $l^{\prime}=l_{s-1}=\left[(n-1) / 2^{s-1}\right] . \quad$ By $(3.1)$ and by the inductive assumption, we have

$$
\begin{aligned}
2^{r-s+1+l-i} \sigma(s)^{i} & =2^{r-s+1+l-i}\left(\sigma(s-1)^{2}+2 \sigma(s-1)\right)^{i} \\
& =\sum_{j=0}^{i}\binom{i}{j} 2^{r-s+1+l-i+j} \sigma(s-1)^{2 i-j}=0
\end{aligned}
$$

for $i \geq l+1+\varepsilon$, where $\varepsilon=0$ if $l^{\prime}=2 l$, or $\varepsilon=1$ if $l^{\prime}=2 l+1$.
Multiply (3.2) by $2^{2+l-i} \sigma(s)^{i-2}(i=l+1+\varepsilon)$. Then we have

$$
2^{r-s+2+l-i} \sigma(s)^{i-1}=0 .
$$

Thus the desired result is obtained by a downward induction on $i$. q.e.d.
Lemma 3.4. Let $l=l_{s}=\left[(n-1) / 2^{s}\right]$, where $0 \leq s \leq r$. Then for $\sigma(s)$ $=\eta^{2^{s}}-1 \in \tilde{K}\left(L^{n}\left(2^{r}\right)\right)$, the following relations hold.

$$
\begin{array}{cc}
2^{r-s+i} \sigma(s)^{l-i} \pm 2^{r-s-1+i} \sigma(s)^{l+1-i}=0 \quad(0 \leq i \leq l-1),  \tag{i}\\
2^{r-s-1} \sigma(s)^{l+1}=2^{r-s} \sigma(s)^{l}=\cdots=2^{r-s+i} \sigma(s)^{l-i}=\cdots \\
=2^{r-s-1+l} \sigma(s) & (-1 \leq i \leq l-1),
\end{array}
$$

(ii) $\quad 2^{r-s-2} \sigma(s)^{l+2}=0$,
(iii) $\quad 2^{r-s+i} \sigma(s)^{l-1-i}+2^{r-s-1+i} \sigma(s)^{l-i}=0 \quad(1 \leq i \leq l-2)$, $2^{r-s} \sigma(s)^{l-1}=-2^{r-s+1} \sigma(s)^{l-2}=\cdots=(-1)^{i-1} 2^{r-s-1+i} \sigma(s)^{l-i}$ $=\cdots=(-1)^{l} 2^{r-s-2+l} \sigma(s) \quad(1 \leq i \leq l-1)$, $2^{r-s-1} \sigma(s)^{l}=2^{r-s} \sigma(s)^{l-1} \quad$ if $r-s \geq 2$, $\sigma(s)^{l}=-2 \sigma(s)^{l-1} \quad$ if $r-s=1$,
(iv)

$$
\begin{gathered}
2^{r-s+i} \sigma(s)^{l-2-i}+2^{r-s-1+i} \sigma(s)^{l-1-i}=0 \quad(2 \leq i \leq l-3), \\
2^{r-s+1} \sigma(s)^{l-3}=-2^{r-s+2} \sigma(s)^{l-4}=\cdots=(-1)^{i} 2^{r-s-1+i} \sigma(s)^{l-1-i} \\
=\cdots=(-1)^{l} 2^{r-s-3+l} \sigma(s) \quad(2 \leq i \leq l-2), \\
2^{r-s} \sigma(s)^{l-2}=(-1)^{l} 3 \cdot 2^{r-s-3+l} \sigma(s) \\
2 \sigma(s)^{l-2}=-2^{2} \sigma(s)^{l-3}=(-1)^{l 2} 2^{l-2} \sigma(s) \quad \text { if } r-s \geq 2, s=1 .
\end{gathered}
$$

Proof. Since $\sigma(r)=0$, we may assume that $r>s$.
(i) Multiply (3.2) by $2^{i} \sigma(s)^{l-1-i}$, where $0 \leq i \leq l-1$. Then we have

$$
\sum_{j=1}^{2^{r-s}}\binom{2^{r-s}}{j} 2^{i} \sigma(s)^{l-1-i+j}=0
$$

By Lemma 3.3, we obtain

$$
\begin{aligned}
\binom{2^{r-s}}{j} 2^{i} \sigma(s)^{l-1-i+j} & =0 & & \text { for } j>2 \\
& = \pm 2^{r-s-1+i} \sigma(s)^{l+1-i} & & \text { for } j=2
\end{aligned}
$$

Thus we obtain (i).
(ii) By (3.1), we have

$$
\begin{aligned}
2^{r-s-2} \sigma(s)^{l+2} & =2^{r-s-2}\left(\sigma(s-1)^{2}+2 \sigma(s-1)\right)^{l+2} \\
& =\sum_{j=0}^{l+2}\binom{l+2}{j} 2^{r-s-2+j} \sigma(s-1)^{2 l+4-j} .
\end{aligned}
$$

If $l^{\prime}=l_{s-1}=2 l$, by Lemma 3.3,

$$
2^{r-s-2+j} \sigma(s-1)^{2 l+4-j}=2^{r-s-2+j} \sigma(s-1)^{r+4-j}=0 .
$$

If $l^{\prime}=l_{s-1}=2 l+1$, by (i),

$$
2^{r-s-2+j} \sigma(s-1)^{2 l+4-j}=2^{r-s-2+j} \sigma(s-1)^{l^{\prime}+3-j}= \pm 2^{r-s+l^{\prime}} \sigma(s-1)
$$

and so, by Lemma 3.3,

$$
\begin{aligned}
2^{r-s-2} \sigma(s)^{l+2} & =\sum_{j=0}^{l+2}\binom{l+2}{j} 2^{r-s+l^{\prime}} \sigma(s-1) \\
& =2^{l+2+r-s+l^{\prime}} \sigma(s-1)=0 .
\end{aligned}
$$

(iii) Multiply (3.2) by $2^{i} \sigma(s)^{l-2-i}$, where $0 \leq i \leq l-2$. Then we have, by Lemma 3.3, (i) and (ii),

$$
\begin{array}{cl}
\binom{2^{r-s}}{2} 2^{i} \sigma(s)^{l-i}=-2^{r-s-1+i} \sigma(s)^{l-i} & \text { for } r-s \geq 2, \\
=2^{i} \sigma(s)^{l-i} & \text { for } r-s=1, \\
\binom{2^{r-s}}{4} 2^{i} \sigma(s)^{l+2-i}= \pm 2^{r-s+i} \sigma(s)^{l-i} & \text { for } r-s \geq 2,0<i \leq l-2, \\
\binom{2^{r-s}}{j} 2^{i} \sigma(s)^{l-2-i+j}=0 & \text { for } j=4, i=0,
\end{array}
$$

$$
\text { for } j \geq 3, j \neq 4,0 \leq i \leq n-3, \text { or for } j \geq 3, r-s=1
$$

Hence we obtain the desired equalities.
(iv) Multiply (3.2) by $2^{i} \sigma(s)^{l-3-i}$, where $0 \leq i \leq l-3$.

Then we have, by Lemma 3.3, (i) and (iii),

$$
\begin{aligned}
& \binom{2^{r-s}}{2} 2^{i} \sigma(s)^{l-1-i}=-2^{r-s-1+i} \sigma(s)^{l-1-i} \quad \text { for } r-s \geq 3, \\
& = \pm 2^{l+1} \sigma(s)-2^{1+i} \sigma(s)^{l-1-i} \quad \text { for } r-s=2 \text {, } \\
& =2^{i} \sigma(s)^{l-1-i} \quad \text { for } r-s=1, \\
& \binom{2^{r-s}}{3} 2^{i} \sigma(s)^{l-i}= \pm 2^{r-s+i+1} \sigma(s)^{l-1-i} \quad \text { for } r-s \geq 3, \\
& = \pm 2^{l+1} \sigma(s) \quad \text { for } r-s=2, \\
& \binom{2^{r-s}}{4} 2^{i} \sigma(s)^{l+1-i}=-2^{r-s+i} \sigma(s)^{l-1-i} \text { for } r-s \geq 3,2 \leq i \leq l-3, \\
& =2^{r-s+1} \sigma(s)^{l-2} \quad \text { for } r-s \geq 3, i=1, \\
& =2^{i} \sigma(s)^{l+1-i} \quad \text { for } r-s=2, \\
& \binom{2^{r-s}}{j} 2^{i} \sigma(s)^{l-3-i+j}=0 \quad \text { for } j \geq 3 \text { and } r-s=1, \text { or for } j \geq 5 .
\end{aligned}
$$

Hence we obtain the desired equalities.
q.e.d.

Now, we are ready to prove our main theorem.
Proof of Theorem 1.1. If $s=0$, the result is identical with Theorem 2.5.
Assume that the result holds for $s-1 \quad(1 \leq s \leq r)$. Put $l=l_{s}=$ $\left[(n-1) / 2^{s}\right]$ and $l^{\prime}=l_{s-1}=\left[(n-1) / 2^{s-1}\right]$. Then $l^{\prime}=2 \ell$ or $l^{\prime}=2 l+1$.

Sublemma 3.5. If $l^{\prime}=2 l, 2^{r-s+1} \sigma(s)^{l-1}= \pm 2^{r-s+l^{\prime}} \sigma(s-1) \neq 0$.
Proof. By (3.1) and Lemma 3.4 (iv), we have

$$
\begin{aligned}
& 2^{r-s+1} \sigma(s)^{l-1}=2^{r-s+1}\left(\sigma(s-1)^{2}+2 \sigma(s-1)\right)^{l-1} \\
= & \sum_{j=0}^{l-1}\binom{l-1}{j} 2^{r-s+1+j} \sigma(s-1)^{2 l-2-j} \\
= & 2^{r-s+1} \sigma(s-1)^{l^{\prime}-2}+\sum_{j=1}^{l-1}\binom{l-1}{j}(-1)^{j+l^{\prime-1}} 2^{r-s+l^{\prime-2}} \sigma(s-1) .
\end{aligned}
$$

Since $\sum_{j=1}^{l-1}\binom{l-1}{j}(-1)^{j}=(1-1)^{l-1}-1=-1$, we obtain, by Lemma 3.4 (iv),

$$
2^{r-s+1} \sigma(s)^{l-1}=(-1)^{l^{\prime}} 2^{r-s+l^{\prime}} \sigma(s-1) .
$$

By induction, $2^{r-s+l} \sigma(s-1)$ is of order 2.

Sublemma 3.6. If $l^{\prime}=2 l+1,2^{r-s+1} \sigma(s)^{l-1} \sigma(s-1)= \pm 2^{r-s+\ell^{\prime}} \sigma(s-1)$ $\neq 0$, in particular, $2^{r-s+1} \sigma(s)^{l-1} \neq 0$.

Proof. As in the proof of the previous sublemma, we have

$$
\begin{aligned}
2^{r-s+1} \sigma(s)^{l-1} \sigma(s-1) & =\sum_{j=0}^{l-1}\binom{l-1}{j} 2^{r-s+1+j} \sigma(s-1)^{l^{\prime-2-j}} \\
& = \pm 2^{r-s+l^{\prime}} \sigma(s-1) \neq 0
\end{aligned}
$$

Combining Lemma 3.4 (i) with Sublemmas 3.5 and 3.6, we have

$$
2^{r-s+l-i} \sigma(s)^{i} \neq 0 \quad(1 \leq i \leq l+1)
$$

Therefore the result follows from Lemma 3.3.

## §4. Proof of Theorem 1.2

Assume that there is a $Z_{2}$-equivariant map $f$ from $\left(L^{n}\left(2^{r} q\right), \bar{T}_{2}\right)$ to ( $L^{m}\left(2^{s} t\right)$, $\bar{T}_{2}$ ). Then $f$ defines a continuous map $\bar{f}$ from $L^{n}\left(2^{r+1} q\right)$ to $L^{m}\left(2^{s+1} t\right)$ such that the following diagram is commutative:

where the vertical maps are the projections of the double coverings.
Let $\eta / k$ denote the canonical complex line bundle $\eta$ over $L^{m}(k)$ and let

$$
\psi: \widetilde{K}\left(L^{m}\left(2^{s+1}\right)\right) \oplus \widetilde{K}\left(L^{m}(t)\right) \longrightarrow \widetilde{K}\left(L^{m}\left(2^{s+1} t\right)\right)
$$

be the isomorphism defined by

$$
\begin{aligned}
& \left(\psi i_{1}\right)\left(\left(\eta / 2^{s+1}\right)-1\right)=\left(\eta / 2^{s+1} t\right)^{t}-1, \\
& \left(\psi i_{2}\right)((\eta / t)-1)=\left(\eta / 2^{s+1} t\right)^{2^{s+1}}-1
\end{aligned}
$$

(cf. [8, Theorem 2.2]), where

$$
\begin{aligned}
& i_{1}: \tilde{K}\left(L^{m}\left(2^{s+1}\right)\right) \longrightarrow \tilde{K}\left(L^{m}\left(2^{s+1}\right)\right) \oplus \tilde{K}\left(L^{m}(t)\right), \\
& i_{2}: \tilde{K}\left(L^{m}(t)\right) \longrightarrow \tilde{K}\left(L^{m}\left(2^{s+1}\right)\right) \oplus \tilde{K}\left(L^{m}(t)\right)
\end{aligned}
$$

are the inclusions into the first or the second direct summand. Let $\pi$ : $L^{n}\left(2^{r+1}\right)$ $\rightarrow L^{n}\left(2^{r+1} q\right)$ be the projection of the $q$-fold covering.

Consider the composite homomorphism $\pi^{*} \bar{f}^{*} \psi i_{1}: \widetilde{K}\left(L^{m}\left(2^{s+1}\right)\right)$ $\rightarrow \tilde{K}\left(L^{n}\left(2^{r+1}\right)\right)$. Then we have

$$
\begin{aligned}
& \pi^{*} \bar{f}^{*} \psi i_{1}\left(\left(\eta / 2^{s+1}\right)^{s^{s}}-1\right)=\pi^{*} \bar{f}^{*}\left(\left(\eta / 2^{s+1} t\right)^{2^{s} t}-1\right) \\
& \quad=\pi^{*}\left(\left(\eta / 2^{r+1} q\right)^{2^{r} q}-1\right)=\left(\eta / 2^{r+1}\right)^{2 r}-1
\end{aligned}
$$

(cf. [10, Lemma 7.1]).
For $\sigma(s)=\left(\eta / 2^{s+1}\right)^{2^{s}}-1 \in \tilde{K}\left(L^{m}\left(2^{s+1}\right)\right)$, we have $2^{1+\left[(m-1) / 2^{s}\right]} \sigma(s)=0$. Hence, for $\sigma(r)=\left(\eta / 2^{r+1}\right)^{2^{r}}-1 \in \tilde{K}\left(L^{n}\left(2^{r+1}\right)\right)$, we have $2^{1+\left[(m-1) / 2^{s}\right]} \sigma(r)$ $=0$. But, by Theorem 1.1, we obtain $\left[(n-1) / 2^{r}\right] \leq\left[(m-1) / 2^{s}\right]$. q.e.d.

## References

[1] K. Fujii, T. Kobayashi, K. Shimomura and M. Sugawara, KO-groups of lens spaces modulo powers of two, Hiroshima Math. J. 8 (1978), 469-489.
[2] T. Kawaguchi and M. Sugawara, $K$-and $K O$-rings of the lens space $L^{n}\left(p^{2}\right)$ for odd prime p, Hiroshima Math. J. 1 (1971), 273-286.
[3] T. Kobayashi, Some Adams operations in $\tilde{K}_{R}\left(L^{n}\left(2^{r}\right)\right)$ and an application, Mem. Fac. Sci. Kochi Univ. (Math.) 8 (1987), 9-26.
[4] T. Kobayashi and M. Sugawara, $K_{\Lambda}$-rings of lens spaces $L^{n}(4)$, Hiroshima Math. J. 1 (1971), 253-271.
[5] T. Kobayashi and M. Sugawara, On stable homotopy types of stunted lens spaces, II, Hiroshima Math. J. 7 (1977), 689-705.
[6] T. Kobayashi and M. Sugawara, Note on $K O$-rings of lens spaces mod $2^{r}$, Hiroshima Math. J. 8 (1978), 85-90.
[7] T. Kobayashi, S. Murakami and M. Sugawara, Note on J-groups of lens spaces, Hiroshima Math. J. 7 (1977), 387-409.
[8] N. Mahammed, A propos de la $K$-théorie des espaces lenticulaires, C.R. Acad. Sci. Paris 271 (1970), 639-642.
[9] H. J. Munkholm and M. Nakaoka, The Borsuk-Ulam theorem and formal group laws, Osaka J. Math. 9 (1972), 337-349.
[10] K. Shibata, Oriented and weakly complex bordism algebra of free periodic maps, Trans. Amer. Math. Soc. 177 (1973), 199-220.
[11] J. W. Vick, An application of $K$-theory to equivariant maps, Bull. Amer. Math. Soc. 75 (1969), 1017-1019.

Department of Mathematics,
Faculty of Science,
Kochi University

